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EXAMPLE 1
Use the Distributive Property to simplify the expression.
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Use the Distributive Property to simplify the expression.
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Jose is x years old. His brother, Felipe, is 2 years older than Jose. Their aunt, Maria, is three
times old as Felipe. Write and simplify an expression that represents Maria’s age in years.
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Alexis is x years old. Her sister, Gioria, is 7 years older than Alexis. Their grandfather is five
times as old as Gloria. Write and simplify an expression that represents their grandfather’s age
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EXAMPLE 3

Simplify each expression. (Combine like terms.)
1)@@@—@ Ny +y+7y 3)7z + 2(z — 5)
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Simplify each expression. (Combine like terms.)
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